PROJECT TITLE: FY 2017 & 2018 PAVEMENT REHABILITATION

PROJECT NO.: PROJECT NOS. 05207 & 05245

BIDS OPENED: MAY 30, 2017 NUMBER OF BIDS RECEIVED: 5 ATTACHMENT IV

AWARDED

						BID SUMMARY			
					NEER'S MATE	DeSilva Gates Construction		O'Grady Paving, Inc.	
						11555 Dublin Boul Dublin, CA 94568		2513 Wyandotte Mountain View, C	i
						Phone No. (925) 8	29-9220	Phone No. (650)	966-1926
						Fax. No. (925) 80		Fax. No. (650) 9	66-1946
ITEM	DESCRIPTION	QTY.	UNIT	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	MOBILIZATION	1.00	LS	\$196,000.00	196,000.00	\$789,000.00	789,000.00	\$415,000.00	415,000.00
2	TRAFFIC CONTROL	1.00	LS	\$393,000.00	393,000.00	\$400,000.00	400,000.00	\$455,000.00	455,000.00
3	FULL DEPTH HMA SPOT REPAIR (4" OR 6" EXCAVATION WITH 4" OR 6" HMA)	1473.04	TN	\$167.33	246,484.27	\$180.00	265,147.72	\$196.00	288,716.41
4	PLANE PAVEMENT (LONGITUDINAL & SECTIONAL WEDGE GRINDING)	19998.97	SY	\$2.60	51,997.33	\$3.00	59,996.92	\$4.00	79,995.89
5	PLANE PAVEMENT (2" DEPTH, FULL WIDTH GRINDING)	37021.00	SY	\$3.08	114,024.68	\$3.00	111,063.00	\$4.35	161,041.35
6	PLANE PAVEMENT (4" DEPTH, FULL WIDTH GRINDING)	110336.00	SY	\$5.00	551,680.00	\$7.00	772,352.00	\$7.03	844,070.40
7	PAVEMENT CRACK SEALING	35471.28	LF	\$1.57	55,689.91	\$0.70	24,829.90	\$0.80	28,377.03
8	LEVELING COURSE; 0.5" THICK HOT MIX ASPHALT	2776.00	TN	\$92.00	255,392.00	\$100.00	277,600.00	\$105.00	291,480.00
9	COLD IN-PLACE RECYCLING; 3" THICK	35838.00	SY	\$10.20	365,547.60	\$12.00	430,056.00	\$14.00	501,732.00
10	FULL DEPTH RECLAMATION; PULVERIZE 12" THICK, CEMENT / LIME TREAT	110336.00	SY	\$18.00	1,986,048.00	\$6.00	662,016.00	90.13	899,238.40
11	HOT MIX ASPHALT; 2" THICK TYPE A OVERLAY	34882.00	TN	\$100.00	3,488,200.00	\$93.00	3,244,026.00		3,139,380.00
12	RECONSTRUCT PCC VALLEY GUTTER	798.00	SF	\$23.33	18,61 <i>7</i> .34		35,910.00		26,334.00
13	TRAFFIC DETECTOR LOOP	30.00	EA	\$433.33	12,999.90	\$400.00	12,000.00	\$470.00	14,100.00
14	REMOVE EXISTING ASPHALT CONCRETE SPEED BUMP /	6.00	EA	\$5,725.00	34,350.00	\$5,000.00	30,000.00	\$10,000.00	60,000.00
15	ADJUST MANHOLE, FRAME & COVER TO GRADE	163.00	EA	\$1,166.67	190,167.21	\$1,000.00	163,000.00	\$1,000.00	163,000.00
16	ADJUST WATER VALVE, BOX & COVER TO GRADE	238.00	EA	\$683.33	162,632.54	\$900.00	214,200.00	\$900.00	214,200.00
17	ADJUST SURVEY MONUMENT BOX & COVER TO GRADE	55.00	EA	\$733.33	40,333.15	\$900.00	49,500.00	\$900.00	49,500.00
18	ADJUST SEWER RISER BOX & COVER TO GRADE	8.00	EA	\$758.33	6,066.64	\$500.00	4,000.00	\$850.00	6,800.00
19	ADJUST GAS VALVE, BOX & COVER TO GRADE	7.00	EA	\$1,000.00	7,000.00	\$900.00	6,300.00	\$850.00	5,950.00
20	ADJUST ELECTRICAL VAULT BOX & COVER TO GRADE	2.00	EA	\$2,500.00	5,000.00	\$2,000.00	4,000.00	\$2,700.00	5,400.00
21	PRUNE TREE ROOT	5.00	EA	\$2,000.00	10,000.00	\$500.00	2,500.00	\$1,000.00	5,000.00
22	BLUE RETROREFLECTIVE PAVEMENT MARKER AT FIRE HYDRANT	94.00	EA	\$18.50	1,739.00	\$20.00	1,880.00	\$23.00	2,162.00
23	4" WHITE LINE (PAINT)	346.00	LF	\$0.43	148.78		692.00	<u> </u>	865.00
24	4" YELLOW LINE (PAINT)	218.00	LF	\$0.43	93.74		436.00	1	545.00
25	12" WHITE CROSSWALK/LIMIT LINE (THERMO)	5040.00	LF	\$3.19	16,077.60		12,600.00		16,380.00
26	12" YELLOW CROSSWALK/LIMIT LINE (THERMO)	1693.00	LF	\$3.19	5,400.67		4,232.50		5,502.25
27	STRIPING DETAIL #1 (THERMO)	3055.00	LF	\$0.50	1,527.50	\$0.50	1,527.50	\$0.50	1,527.50

IKE LANE ARROW (3.5 SF) RROW TYPE II (L OR R) RROW TYPE III (L OR R) ECONSTRUCT ADA RAMP, CASE "A" ECONSTRUCT ADA RAMP, CASE "B" ECONSTRUCT ADA RAMP, CASE "C" ECONSTRUCT ADA RAMP, CASE "MODIFIED C" IDEWALK CONFORM URB & GUTTER ERFORM GREEN THERMOPLASTIC FOR BIKE LANES ERFORM GREEN THERMOPLASTIC PANELS WITH BIKE IDER SYMBOL ERFORM GREEN THERMOPLASTIC PANELS WITH BIKE ANE ARROW ECYCLING IMPLEMENTATION	66.50 217.00 840.00 1.00 9.00 6.00 1.00 1184.00 157.50 21060.00 110.00 76.00 1.00	SF SF EA EA EA SF SF SF SF EA EA LS	\$3.35 \$3.35 \$3.35 \$5,000.00 \$5,000.00 \$5,000.00 \$17.88 \$66.80 \$12.00 \$500.00 \$500.00	726.95 2,814.00 5,000.00 45,000.00 30,000.00 5,000.00 21,169.92 10,521.00 252,720.00 55,000.00 38,000.00 1,000.00	\$3.00 \$3.00 \$2,800.00 \$2,800.00 \$2,800.00 \$13.00 \$100.00 \$7.00 \$250.00	651.00 2,520.00 2,800.00 25,200.00 16,800.00 2,800.00 15,392.00 15,750.00 147,420.00 27,500.00	\$3.50 \$3.50 \$7,400.00 \$7,400.00 \$7,400.00 \$19.00 \$105.00 \$8.00 \$290.00 \$1,000.00	759.50 2,940.00 7,400.00 66,600.00 44,400.00 7,800.00 22,496.00 16,537.50 168,480.00 31,900.00 22,040.00
RROW TYPE II (L OR R) RROW TYPE III (L OR R) ECONSTRUCT ADA RAMP, CASE "A" ECONSTRUCT ADA RAMP, CASE "B" ECONSTRUCT ADA RAMP, CASE "C" ECONSTRUCT ADA RAMP, CASE "MODIFIED C" IDEWALK CONFORM URB & GUTTER ERFORM GREEN THERMOPLASTIC FOR BIKE LANES ERFORM GREEN THERMOPLASTIC PANELS WITH BIKE IDER SYMBOL ERFORM GREEN THERMOPLASTIC PANELS WITH BIKE	217.00 840.00 1.00 9.00 6.00 1.00 1184.00 157.50 21060.00	SF SF EA EA EA SF SF SF SF	\$3.35 \$3.35 \$5,000.00 \$5,000.00 \$5,000.00 \$17.88 \$66.80 \$12.00	726.95 2,814.00 5,000.00 45,000.00 30,000.00 5,000.00 21,169.92 10,521.00 252,720.00 55,000.00	\$3.00 \$3.00 \$2,800.00 \$2,800.00 \$2,800.00 \$13.00 \$100.00 \$7.00	2,520.00 2,800.00 25,200.00 16,800.00 2,800.00 15,392.00 15,750.00 147,420.00 27,500.00	\$3.50 \$7,400.00 \$7,400.00 \$7,400.00 \$19.00 \$105.00 \$8.00	2,940.00 7,400.00 66,600.00 44,400.00 7,800.00 22,496.00 16,537.50 168,480.00 31,900.00
RROW TYPE II (L OR R) RROW TYPE III (L OR R) ECONSTRUCT ADA RAMP, CASE "A" ECONSTRUCT ADA RAMP, CASE "B" ECONSTRUCT ADA RAMP, CASE "C" ECONSTRUCT ADA RAMP, CASE "MODIFIED C" IDEWALK CONFORM URB & GUTTER ERFORM GREEN THERMOPLASTIC FOR BIKE LANES ERFORM GREEN THERMOPLASTIC PANELS WITH BIKE	217.00 840.00 1.00 9.00 6.00 1.00 1184.00 157.50 21060.00	SF SF EA EA EA SF SF SF	\$3.35 \$3.35 \$5,000.00 \$5,000.00 \$5,000.00 \$17.88 \$66.80 \$12.00	726.95 2,814.00 5,000.00 45,000.00 30,000.00 5,000.00 21,169.92 10,521.00 252,720.00	\$3.00 \$3.00 \$2,800.00 \$2,800.00 \$2,800.00 \$2,800.00 \$13.00 \$100.00 \$7.00	2,520.00 2,800.00 25,200.00 16,800.00 2,800.00 15,392.00 15,750.00 147,420.00	\$3.50 \$7,400.00 \$7,400.00 \$7,400.00 \$7,800.00 \$19.00 \$105.00 \$8.00	2,940.00 7,400.00 66,600.00 44,400.00 7,800.00 22,496.00 16,537.50 168,480.00
RROW TYPE II (L OR R) RROW TYPE III (L OR R) ECONSTRUCT ADA RAMP, CASE "A" ECONSTRUCT ADA RAMP, CASE "B" ECONSTRUCT ADA RAMP, CASE "C" ECONSTRUCT ADA RAMP, CASE "MODIFIED C" IDEWALK CONFORM URB & GUTTER ERFORM GREEN THERMOPLASTIC FOR BIKE LANES	217.00 840.00 1.00 9.00 6.00 1.00 1184.00 157.50	SF SF EA EA EA SF SF SF	\$3.35 \$3.35 \$5,000.00 \$5,000.00 \$5,000.00 \$17.88 \$66.80	726.95 2,814.00 5,000.00 45,000.00 30,000.00 5,000.00 21,169.92 10,521.00	\$3.00 \$3.00 \$2,800.00 \$2,800.00 \$2,800.00 \$13.00 \$100.00	2,520.00 2,800.00 25,200.00 16,800.00 2,800.00 15,392.00 15,750.00	\$3.50 \$7,400.00 \$7,400.00 \$7,400.00 \$7,800.00 \$19.00 \$105.00	2,940.00 7,400.00 66,600.00 44,400.00 7,800.00 22,496.00 16,537.50 168,480.00
RROW TYPE II (L OR R) RROW TYPE III (L OR R) ECONSTRUCT ADA RAMP, CASE "A" ECONSTRUCT ADA RAMP, CASE "B" ECONSTRUCT ADA RAMP, CASE "C" ECONSTRUCT ADA RAMP, CASE "MODIFIED C" IDEWALK CONFORM	217.00 840.00 1.00 9.00 6.00 1.00	SF SF EA EA EA SF SF SF	\$3.35 \$3.35 \$5,000.00 \$5,000.00 \$5,000.00 \$17.88 \$66.80	726.95 2,814.00 5,000.00 45,000.00 30,000.00 5,000.00 21,169.92 10,521.00	\$3.00 \$3.00 \$2,800.00 \$2,800.00 \$2,800.00 \$13.00 \$100.00	2,520.00 2,800.00 25,200.00 16,800.00 2,800.00 15,392.00 15,750.00	\$3.50 \$7,400.00 \$7,400.00 \$7,400.00 \$7,800.00 \$19.00 \$105.00	2,940.00 7,400.00 66,600.00 44,400.00 7,800.00 22,496.00 16,537.50
RROW TYPE II (L OR R) RROW TYPE III (L OR R) ECONSTRUCT ADA RAMP, CASE "A" ECONSTRUCT ADA RAMP, CASE "B" ECONSTRUCT ADA RAMP, CASE "C" ECONSTRUCT ADA RAMP, CASE "MODIFIED C"	217.00 840.00 1.00 9.00 6.00 1.00	SF SF EA EA EA SF	\$3.35 \$3.35 \$5,000.00 \$5,000.00 \$5,000.00 \$17.88	726.95 2,814.00 5,000.00 45,000.00 30,000.00 5,000.00 21,169.92	\$3.00 \$3.00 \$2,800.00 \$2,800.00 \$2,800.00 \$2,800.00 \$13.00	2,520.00 2,800.00 25,200.00 16,800.00 2,800.00 15,392.00	\$3.50 \$7,400.00 \$7,400.00 \$7,400.00 \$7,800.00 \$19.00	2,940.00 7,400.00 66,600.00 44,400.00 7,800.00 22,496.00
RROW TYPE II (L OR R) RROW TYPE III (L OR R) ECONSTRUCT ADA RAMP, CASE "A" ECONSTRUCT ADA RAMP, CASE "B" ECONSTRUCT ADA RAMP, CASE "C"	217.00 840.00 1.00 9.00 6.00	SF SF EA EA EA	\$3.35 \$3.35 \$5,000.00 \$5,000.00 \$5,000.00	726.95 2,814.00 5,000.00 45,000.00 30,000.00 5,000.00	\$3.00 \$3.00 \$2,800.00 \$2,800.00 \$2,800.00 \$2,800.00	2,520.00 2,800.00 25,200.00 16,800.00 2,800.00	\$3.50 \$7,400.00 \$7,400.00 \$7,400.00 \$7,800.00	2,940.00 7,400.00 66,600.00 44,400.00 7,800.00
RROW TYPE II (L OR R) RROW TYPE III (L OR R) ECONSTRUCT ADA RAMP, CASE "A" ECONSTRUCT ADA RAMP, CASE "B"	217.00 840.00 1.00 9.00 6.00	SF SF EA EA	\$3.35 \$3.35 \$5,000.00 \$5,000.00	726.95 2,814.00 5,000.00 45,000.00 30,000.00	\$3.00 \$3.00 \$2,800.00 \$2,800.00 \$2,800.00	2,520.00 2,800.00 25,200.00 16,800.00	\$3.50 \$7,400.00 \$7,400.00 \$7,400.00	2,940.00 7,400.00 66,600.00 44,400.00
RROW TYPE II (L OR R) RROW TYPE III (L OR R) ECONSTRUCT ADA RAMP, CASE "A" ECONSTRUCT ADA RAMP, CASE "B"	217.00 840.00 1.00 9.00	SF SF EA EA	\$3.35 \$3.35 \$5,000.00 \$5,000.00	726.95 2,814.00 5,000.00 45,000.00	\$3.00 \$3.00 \$2,800.00 \$2,800.00	2,520.00 2,800.00 25,200.00	\$3.50 \$7,400.00 \$7,400.00	2,940.00 7,400.00 66,600.00
RROW TYPE II (L OR R) RROW TYPE III (L OR R)	217.00 840.00 1.00	SF SF EA	\$3.35 \$3.35 \$5,000.00	726.95 2,814.00 5,000.00	\$3.00 \$3.00 \$2,800.00	2,520.00 2,800.00	\$3.50 \$7,400.00	2,940.00 7,400.00
RROW TYPE II (L OR R) RROW TYPE III (L OR R)	217.00 840.00	SF SF	\$3.35 \$3.35	726.95 2,814.00	\$3.00 \$3.00	2,520.00	\$3.50	2,940.00
	217.00	SF	\$3.35	726.95	\$3.00		90	
KE LANE ARROW (3.5 SF)								75050
					\$3.00	199.50	\$3.50	232.75
KE LANE SYMBOL WITH PERSON (7 SF)	219.00	SF	\$3.35					766.50
ITERNATIONAL SYMBOL OF ACCESSIBILITY MARKING	46.00	SF	\$3.35	154.10	\$3.00	138.00	\$3.50	161.00
AVEMENT MARKING PARKING "T" (PAINT)	24.00	SF	\$3.35	80.40	\$6.00		\$7.00	168.00
AVEMENT MARKING "YEILD" LEGEND (THERMO)	84.00	SF	\$3.35					294.00
AVEMENT MARKING "X" (PAINT)	594.00	SF	\$3.35				7	2,079.00
AVEMENT MARKING "STOP" LEGEND (THERMO)	92.00	SF	\$3.35				100	322.00
AVEMENT MARKING "SLOW" LEGEND (THERMO)	140.00	SF	\$3.35		\$3.00		500	490.00
AVEMENT MARKING "KEEP" LEGEND (THERMO)	48.00	SF	\$3.35		\$3.00			168.00
AVEMENT MARKING "HUMP" LEGEND (THERMO)	88.00	SF	\$3.35					308.00
AVEMENT MARKING "DIP" LEGEND (THERMO)	54.00	SF	\$3.35		\$3.00			189.00
AVEMENT MARKING "CLEAR" LEGEND (THERMO)	176.00	SF	\$3.35		\$3.00			616.00
AVEMENT MARKING "25" LEGEND (THERMO)	491.00	LF	\$3.35					1,718.50
FRIPING DETAIL #39A (THERMO)	11528.00	LF	\$3.35					8,646.00
TRIPING DETAIL #39 (THERMO)	220.00	LF	\$3.35		\$1.00			220.00
TRIPING DETAIL #38A (THERMO)	878.00	LF	\$3.35		\$0.50			439.00
TRIPING DETAIL #38 (THERMO & MARKERS)	5454.00	LF	\$3.35	18,270.90	\$0.50			3,272.40
TRIPING DETAIL #30 (THERMO)	1771.00	LF	\$3.35		\$1.00		\$1.50	2,656.50
rriping detail #30 (thermo)	2431.00	LF	\$3.35	8,143.85	\$1.00	-	\$1.50	3,646.50
TRIPING DETAIL #30 (THERMO)	365.00	LF	\$3.35	1,222.75	\$1.00		\$2.00	730.00
TRIPING DETAIL #29 (THERMO & MARKERS)	250.00	LF	\$3.35	837.50	\$1.00	250.00	\$2.00	500.00
FRIPING DETAIL #28 (THERMO)	708.00	LF	\$3.35	2,371.80	\$1.00	708.00	\$1.00	708.00
TRIPING DETAIL #27B (THERMO)	1106.00	LF	\$3.35	3,705.10	\$0.50	553.00	\$0.50	553,00
TRIPING DETAIL #26 (MARKERS)	3590.00	LF	\$1.20	4,308.00	\$0.20	718.00	\$0.25	897.50
TRIPING DETAIL #23 (MARKERS)	1642.00	LF	\$1.20	1,970.40	\$1.00	1,642.00	\$1.50	2,463.00
TRIPING DETAIL #22 (THERMO & MARKERS)	1380.00	LF	\$1.75	2,415.00	\$1.00	1,380.00	\$1.50	2,070.00
TRIPING DETAIL #21 (THERMO)	3077.00	LF	\$1.68	5,169.36	\$1.00	3,077.00	\$1.00	3,077.00
TRIPING DETAIL #10 (MARKERS)	14499.00	LF	\$1.25	18,123.75	\$0.50	7,249.50	\$0.50	7,249.50
	RIPING DETAIL #21 (THERMO) RIPING DETAIL #22 (THERMO & MARKERS) RIPING DETAIL #23 (MARKERS) RIPING DETAIL #23 (MARKERS) RIPING DETAIL #26 (MARKERS) RIPING DETAIL #27 (THERMO) RIPING DETAIL #28 (THERMO) RIPING DETAIL #29 (THERMO & MARKERS) RIPING DETAIL #30 (THERMO) RIPING DETAIL #30 (THERMO) RIPING DETAIL #30 (THERMO) RIPING DETAIL #38 (THERMO) RIPING DETAIL #38 (THERMO) RIPING DETAIL #38 (THERMO) RIPING DETAIL #39 (THERMO) RIPING DETAIL #39 (THERMO) RIPING DETAIL #39 (THERMO) RIPING DETAIL #390 (THER	RIPING DETAIL #10 (MARKERS) RIPING DETAIL #21 (THERMO) RIPING DETAIL #22 (THERMO & MARKERS) RIPING DETAIL #23 (MARKERS) RIPING DETAIL #23 (MARKERS) RIPING DETAIL #26 (MARKERS) RIPING DETAIL #278 (THERMO) RIPING DETAIL #28 (THERMO) RIPING DETAIL #28 (THERMO) RIPING DETAIL #29 (THERMO) RIPING DETAIL #29 (THERMO) RIPING DETAIL #30 (THERMO) RIPING DETAIL #30 (THERMO) RIPING DETAIL #30 (THERMO) RIPING DETAIL #30 (THERMO) RIPING DETAIL #38 (THERMO) RIPING DETAIL #38 (THERMO) RIPING DETAIL #38 (THERMO) RIPING DETAIL #38 (THERMO) RIPING DETAIL #39 (THERMO) RIPING DETAIL #30 (THERMO) RIPING DETAIL #	RIPING DETAIL #10 (MARKERS) RIPING DETAIL #21 (THERMO) RIPING DETAIL #22 (THERMO & MARKERS) RIPING DETAIL #22 (THERMO & MARKERS) RIPING DETAIL #23 (MARKERS) RIPING DETAIL #23 (MARKERS) RIPING DETAIL #26 (MARKERS) RIPING DETAIL #278 (THERMO) RIPING DETAIL #28 (THERMO) RIPING DETAIL #29 (THERMO & MARKERS) RIPING DETAIL #29 (THERMO & MARKERS) RIPING DETAIL #30 (THERMO) RIPING DETAIL #30 (THERMO) RIPING DETAIL #30 (THERMO) RIPING DETAIL #30 (THERMO) RIPING DETAIL #38 (THERMO) RIPING DETAIL #39 (THERMO) RIPING DETAIL #38 (THERMO) RIPING DETAIL #39 (THERMO) SERVEMENT MARKING "25" LEGEND (THERMO) A91.00 LF VEMENT MARKING "CLEAR" LEGEND (THERMO) A91.00 SF VEMENT MARKING "CLEAR" LEGEND (THERMO) A91.00 SF VEMENT MARKING "HUMP" LEGEND (THERMO) A8.00 SF VEMENT MARKING "SLOW" LEGEND (THERMO) A9.00 SF VEMENT MARKING "STOP" LEGEND (THERMO) SF VEMENT MARKING "STOP" LEGEND (TH	RIPING DETAIL #10 (MARKERS) 14499.00 LF \$1.25 RIPING DETAIL #21 (THERMO) 3077.00 LF \$1.68 RIPING DETAIL #22 (THERMO & MARKERS) 1380.00 LF \$1.75 RIPING DETAIL #23 (MARKERS) 1642.00 LF \$1.20 RIPING DETAIL #23 (MARKERS) 3590.00 LF \$1.20 RIPING DETAIL #26 (MARKERS) 3590.00 LF \$1.20 RIPING DETAIL #27B (THERMO) 1106.00 LF \$3.35 RIPING DETAIL #28 (THERMO) 708.00 LF \$3.35 RIPING DETAIL #29 (THERMO & MARKERS) 250.00 LF \$3.35 RIPING DETAIL #29 (THERMO & MARKERS) 250.00 LF \$3.35 RIPING DETAIL #30 (THERMO) 365.00 LF \$3.35 RIPING DETAIL #30 (THERMO) 1771.00 LF \$3.35 RIPING DETAIL #30 (THERMO) 1771.00 LF \$3.35 RIPING DETAIL #38 (THERMO) 878.00 LF \$3.35 RIPING DETAIL #38 (THERMO) 878.00 LF \$3.35 RIPING DETAIL #39 (THERMO) 1528.00 LF \$3.35 RIPING DETAIL #39 (THERMO) 176.00 SF \$3.35 RIPING DETAIL #39 (THERMO) 176.00 SF \$3.35 RIPING MARKING "CLEAR" LEGEND (THERMO) 160.00 SF \$3.35 RIPING MARKING "NUMP" LEGEND (THERMO) 48.00 SF \$3.35 RIPING MARKING "REEP" LEGEND (THERMO) 48.00 SF \$3.35 RIPING MARKING "SLOW" LEGEND (THERMO) 48.00 SF \$3.35 RIPING MARKING "STOP" LEGEND (THERMO) 48.00 SF \$3.35 RIPING MARKING "STOP" LEGEND (THERMO) 48.00 SF \$3.35 RIPING MARKING "STOP" LEGEND (THERMO) 594.00 SF \$3.35 RIPING MARKING "STOP" LEGEND (THERMO) 48.00 SF \$3.35 RIPING MARKING "STOP" LEGEND (THERMO) 594.00 SF \$3.35	RIPING DETAIL #10 (MARKERS) 14499.00 LF \$1.25 18,123.75 RIPING DETAIL #21 (THERMO) 3077.00 LF \$1.68 5,169.36 RIPING DETAIL #22 (THERMO & MARKERS) 1380.00 LF \$1.75 2,415.00 RIPING DETAIL #23 (MARKERS) 1642.00 LF \$1.20 1,970.40 RIPING DETAIL #26 (MARKERS) 3590.00 LF \$1.20 4,308.00 RIPING DETAIL #278 (THERMO) 1106.00 LF \$3.35 3,705.10 RIPING DETAIL #28 (THERMO) 708.00 LF \$3.35 2,371.80 RIPING DETAIL #28 (THERMO) 708.00 LF \$3.35 2,371.80 RIPING DETAIL #29 (THERMO & MARKERS) 250.00 LF \$3.35 837.50 RIPING DETAIL #30 (THERMO) 365.00 LF \$3.35 1,222.75 RIPING DETAIL #30 (THERMO) 2431.00 LF \$3.35 8,143.85 RIPING DETAIL #30 (THERMO) 1771.00 LF \$3.35 5,932.85 RIPING DETAIL #38 (THERMO) 1771.00 LF \$3.35 18,270.90 RIPING DETAIL #38 (THERMO) 8 MARKERS) 5454.00 LF \$3.35 18,270.90 RIPING DETAIL #38 (THERMO) 220.00 LF \$3.35 737.00 RIPING DETAIL #39 (THERMO) 11528.00 LF \$3.35 737.00 RIPING DETAIL #39 (THERMO) 11528.00 LF \$3.35 737.00 RIPING DETAIL #39 (THERMO) 11528.00 LF \$3.35 737.00 RIPING DETAIL #39 (THERMO) 176.00 SF \$3.35 16.44.85 VEMENT MARKING "25" LEGEND (THERMO) 176.00 SF \$3.35 589.60 VEMENT MARKING "CLEAR" LEGEND (THERMO) 54.00 SF \$3.35 180.90 VEMENT MARKING "CLEAR" LEGEND (THERMO) 54.00 SF \$3.35 180.90 VEMENT MARKING "CLEAR" LEGEND (THERMO) 54.00 SF \$3.35 180.90 VEMENT MARKING "CLEAR" LEGEND (THERMO) 54.00 SF \$3.35 180.90 VEMENT MARKING "CLEAR" LEGEND (THERMO) 54.00 SF \$3.35 180.90 VEMENT MARKING "SLOW" LEGEND (THERMO) 54.00 SF \$3.35 3.35 160.80 VEMENT MARKING "SLOW" LEGEND (THERMO) 54.00 SF \$3.35 3.35 3.35 3.35 3.35 3.35 3.35 3.3	RIPING DETAIL #10 (MARKERS) 14499.00 LF \$1.25 18,123.75 \$0.50 RIPING DETAIL #21 (THERMO) 3077.00 LF \$1.68 \$5,169.36 \$1.00 RIPING DETAIL #22 (THERMO & MARKERS) 1380.00 LF \$1.75 \$2,415.00 \$1.00 RIPING DETAIL #22 (THERMO & MARKERS) 1642.00 LF \$1.20 \$1,970.40 \$1.00 RIPING DETAIL #26 (MARKERS) 1642.00 LF \$1.20 \$1,970.40 \$1.00 RIPING DETAIL #28 (THERMO) 1106.00 LF \$3.35 \$3,705.10 \$0.50 RIPING DETAIL #28 (THERMO) 708.00 LF \$3.35 \$3,705.10 \$0.50 RIPING DETAIL #28 (THERMO) 708.00 LF \$3.35 \$3,705.10 \$0.50 RIPING DETAIL #29 (THERMO & MARKERS) 250.00 LF \$3.35 \$3,35 \$3,705.10 \$1.00 RIPING DETAIL #29 (THERMO & MARKERS) 250.00 LF \$3.35 \$3,35 \$3,705.10 \$1.00 RIPING DETAIL #30 (THERMO) 2431.00 LF \$3.35 \$3,35 \$3,100 RIPING DETAIL #30 (THERMO) 1771.00 LF \$3.35 \$5,932.85 \$1.00 RIPING DETAIL #38 (THERMO) RIPING DETAIL #39 (THERMO) RIPING DETAIL #30 (THERMO) RIPING DETAIL #30 (THERMO) RIPING DETAI	RIPING DETAIL #10 (MARKERS) 14499.00 LF \$1.25 18,123.75 \$0.50 7,249.50 RIPING DETAIL #10 (MARKERS) 14499.00 LF \$1.68 5,169.36 \$1.00 3,077.00 RIPING DETAIL #21 (THERMO) 3077.00 LF \$1.68 5,169.36 \$1.00 3,077.00 RIPING DETAIL #22 (THERMO & MARKERS) 1880.00 LF \$1.75 2,415.00 \$1.00 1,380.00 RIPING DETAIL #23 (MARKERS) 1642.00 LF \$1.20 1,970.40 \$1.00 1,642.00 RIPING DETAIL #23 (MARKERS) 1642.00 LF \$1.20 4,308.00 \$0.20 718.00 RIPING DETAIL #26 (MARKERS) 3590.00 LF \$1.20 4,308.00 \$0.20 718.00 RIPING DETAIL #276 (THERMO) 1106.00 LF \$3.35 3,705.10 \$0.50 553.00 RIPING DETAIL #28 (THERMO) 708.00 LF \$3.35 3,705.10 \$0.50 553.00 RIPING DETAIL #28 (THERMO) 708.00 LF \$3.35 2,371.80 \$1.00 708.00 RIPING DETAIL #29 (THERMO & MARKERS) 250.00 LF \$3.35 1,222.75 \$1.00 365.00 RIPING DETAIL #30 (THERMO) 365.00 LF \$3.35 1,222.75 \$1.00 365.00 RIPING DETAIL #30 (THERMO) 1241.00 LF \$3.35 8,143.85 \$1.00 2,431.00 RIPING DETAIL #30 (THERMO) 1771.00 LF \$3.35 5,932.85 \$1.00 1,771.00 RIPING DETAIL #30 (THERMO) 1771.00 LF \$3.35 5,932.85 \$1.00 1,771.00 RIPING DETAIL #30 (THERMO) 878.00 LF \$3.35 5,932.85 \$1.00 1,771.00 RIPING DETAIL #30 (THERMO) 878.00 LF \$3.35 5,932.85 \$1.00 1,771.00 RIPING DETAIL #30 (THERMO) 878.00 LF \$3.35 5,932.85 \$1.00 1,771.00 RIPING DETAIL #30 (THERMO) 878.00 LF \$3.35 5,932.85 \$1.00 1,771.00 RIPING DETAIL #30 (THERMO) 1771.00 LF \$3.35 5,932.85 \$1.00 1,771.00 RIPING DETAIL #30 (THERMO) 878.00 LF \$3.35 737.00 \$1.00 220.00 RIPING DETAIL #39 (THERMO) 150.00 LF \$3.35 737.00 \$1.00 220.00 RIPING DETAIL #39 (THERMO) 150.00 LF \$3.35 737.00 \$1.00 220.00 RIPING DETAIL #39 (THERMO) 150.00 LF \$3.35 737.00 \$1.00 220.00 RIPING DETAIL #39 (THERMO) 150.00 LF \$3.35 737.00 \$1.00 220.00 RIPING DETAIL #39 (THERMO) 150.00 LF \$3.35 737.00 \$1.00 220.00 RIPING DETAIL #39 (THERMO) 150.00 LF \$3.35 737.00 \$1.00 220.00 RIPING DETAIL #39 (THERMO) 150.00 LF \$3.35 737.00 \$1.00 220.00 RIPING DETAIL #39 (THERMO) 150.00 LF \$3.35 737.00 \$1.00 220.00 RIPING DETAIL #39 (THERMO) 150.00 LF \$3.35 737.00 \$1.00 20.00 RIPING DETAIL #39 (THERMO) 150.00 LF \$3.35 73.00 \$	RIPING DETAIL #10 (MARKERS) 14499.00 LF \$1.25 18,123.75 \$0.50 7,249.50 \$0.50 RIPING DETAIL #10 (MARKERS) 14499.00 LF \$1.68 5,169.36 \$1.00 3,077.00 \$1.00 RIPING DETAIL #22 (THERMO & MARKERS) 1380.00 LF \$1.75 2,415.00 \$1.00 1,380.00 \$1.50 RIPING DETAIL #22 (MARKERS) 1642.00 LF \$1.20 1,970.40 \$1.00 1,642.00 \$1.50 RIPING DETAIL #23 (MARKERS) 1642.00 LF \$1.20 1,970.40 \$1.00 1,642.00 \$1.50 RIPING DETAIL #23 (MARKERS) 1642.00 LF \$1.20 1,970.40 \$1.00 \$0.50 \$1.50 RIPING DETAIL #28 (MARKERS) 1642.00 LF \$1.20 4,308.00 \$0.20 718.00 \$0.25 RIPING DETAIL #278 (THERMO) \$1.00 0, LF \$3.33 3,705.10 \$0.50 553.00 \$0.25 RIPING DETAIL #278 (THERMO) \$708.00 LF \$3.33 3,705.10 \$0.50 553.00 \$0.50 RIPING DETAIL #276 (THERMO & MARKERS) \$250.00 LF \$3.33 \$2,371.80 \$1.00 708.00 \$1.00 RIPING DETAIL #29 (THERMO) \$365.00 LF \$3.33 \$837.50 \$1.00 \$250.00 \$2.00 RIPING DETAIL #30 (THERMO) \$365.00 LF \$3.33 \$1,222.75 \$1.00 \$365.00 \$2.20 RIPING DETAIL #30 (THERMO) \$2431.00 LF \$3.33 \$1,438.5 \$1.00 \$2,431.00 \$1.50 RIPING DETAIL #30 (THERMO) \$1.771.00 LF \$3.35 \$1,222.75 \$1.00 \$365.00 \$2.00 RIPING DETAIL #30 (THERMO) \$1.771.00 LF \$3.35 \$1,222.75 \$1.00 \$1.771.00 \$1.50 RIPING DETAIL #30 (THERMO) \$1.771.00 LF \$3.35 \$1,222.75 \$1.00 \$1.771.00 \$1.50 RIPING DETAIL #30 (THERMO) \$1.771.00 LF \$3.35 \$1,222.75 \$1.00 \$1.771.00 \$1.50 RIPING DETAIL #30 (THERMO) \$1.771.00 LF \$3.35 \$1.20 RIPING DETAIL #30 (THERMO) \$1.771.00 \$1.50 RIPING DETAIL #30 (THERMO) \$1.50 RIPING DETAIL #

•	Cities & Grading	Ghilotti C	Construction	Granite Co	onstruction
1450 Civic Court #400 Concord, CA 94	. •	246 Ghilotti A Santa Rosa, C		715 Comstock Street Santa Clara, CA 95054	
Phone No. (925	i) 687-6666	Phone No.(70)	7) 585-1221	Phone No. (408)	327-7000
Fax. No. (925)		Fax. No. (707	585-1601	Fax. No. (408) 3	327-7090
UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
\$650,000.00	650,000.00	\$880,000.00	880,000.00	\$195,000.00	195,000.00
\$360,000.00	360,000.00	\$279,000.00	279,000.00	\$375,000.00	375,000.00
\$188.00	276,932.07	\$175.00	257,782.51	\$155.00	228,321.65
\$5.00	99,994.87	\$5.00	99,994.87	\$8.00	159,991.79
\$3.00	111,063.00	\$5.00	185,105.00	\$5.50	203,615.50
\$6.00	662,016.00	\$8.00	882,688.00	\$5.40	595,814.40
\$0.80	28,377.03	\$0.70	24,829.90	\$0.70	24,829.90
\$131.00	363,656.00	\$108.00	299,808.00	\$140.00	388,640.00
\$15.00	537,570.00	\$13.00	465,894.00	\$12.00	430,056.00
\$7.50	827,520.00	\$13.00	1,434,368.00	\$10.00	1,103,360.00
\$91.00	3,174,262.00	\$90.00	3,139,380.00	\$115.00	4,011,430.00
\$70.00	55,860.00	\$30.00	23,940.00	\$22.00	17,556.00
\$370.00	11,100.00	\$400.00	12,000.00	\$400.00	12,000.00
\$10,000.00	60,000.00	\$5,000.00	30,000.00	\$6,500.00	39,000.00
\$1,130.00	184,190.00	\$1,200.00	195,600.00	\$3,000.00	489,000.00
\$1,000.00	238,000.00	\$1,000.00	238,000.00	\$2,000.00	476,000.00
\$1,000.00	55,000.00	\$1,000.00	55,000.00	\$2,000.00	110,000.00
\$950.00	7,600.00	\$1,000.00	8,000.00	\$2,800.00	22,400.00
\$950.00	6,650.00	\$1,000.00	7,000.00	\$2,100.00	14,700.00
\$3,000.00	6,000.00	\$2,000.00	4,000.00	\$1,200.00	2,400.00
\$300.00	1,500.00	\$600.00	3,000.00	\$2,400.00	12,000.00
\$23.00	2,162.00	\$20.00	1,880.00	\$34.25	3,219.50
\$2.35	813.10	\$2.00	692.00	\$3.45	1,193.70
\$2.35	512.30	\$2.00	436.00	\$3.45	752.10
\$3.25	16,380.00	\$3.00	15,120.00	\$4.80	24,192.00
\$3.25	5,502.25	\$3.00	5,079.00	\$4.80	8,126.40
\$0.55	1,680.25	\$0.50	1,527.50	\$0.80	2,444.00

221.50	\$0.50	221.50	\$0.50	243.65	\$0.55
10,874.25	\$0.75	7,249.50	\$0.50	7,974.45	\$0.55
4,769.35	\$1.55	0.00	\$0.00	3,230.85	\$1.05
2,346.00	\$1.70	0.00	\$0.00	1,587.00	\$1.15
2,791.40	\$1.70	0.00	\$0.00	1,888.30	\$1.15
1,256.50	\$0.35	718.00	\$0.20	897.50	\$0.25
884.80	\$0.80	553.00	\$0.50	608.30	\$0.55
1,132.80	\$1.60	0.00	\$0.00	743.40	\$1.05
425.00	\$1.70	0.00	\$0.00	287.50	\$1.15
620.50	\$1.70	0.00	\$0.00	419.75	\$1.15
4,132.70	\$1.70	0.00	\$0.00	2,795.65	\$1.15
3,010.70	\$1.70	0.00	\$0.00	2,036.65	\$1.15
5,181.30	\$0.95	2,727.00	\$0.50	3,545.10	\$0.65
658.50	\$0.75	439.00	\$0.50	439.00	\$0.50
264.00	\$1.20	154.00	\$0.70	178.20	\$0.81
12,680.80	\$1.10	8,069.60	\$0.70	8,646.00	\$0.75
2,528.65	\$5.15	1,473.00	\$3.00	1,718.50	\$3.50
906.40	\$5.15	528.00	\$3.00	616.00	\$3.50
278.10	\$5.15	162.00	\$3.00	189.00	\$3.50
453.20	\$5.15	264.00	\$3.00	308.00	\$3.50
247.20	\$5.15	144.00	\$3.00	168.00	\$3.50
721.00	\$5.15	420.00	\$3.00	490.00	\$3.50
473.80	\$5.15	276,00	\$3.00	322.00	\$3.50
3,059.10	\$5.15	1,782.00	\$3.00	2,079.00	\$3.50
432.60	\$5.15	252.00	\$3.00	294.00	\$3.50
244.80	\$10.20	144.00	\$6.00	168.00	\$7.00
236.90	\$5.15	138.00	\$3.00	161.00	\$3.50
1,127.85	\$5.15	657.00	\$3.00	766.50	\$3.50
342.48	\$5.15	199.50	\$3.00	232.75	\$3.50
1,117.55	\$5.15	651.00	\$3.00	759.50	\$3.50
4,326.00	\$5.15	2,520.00	\$3.00	2,940.00	\$3.50
11,000.00	\$11,000.00	3,800.00	\$3,800.00	9,300.00	\$9,300.00
99,000.00	\$11,000.00	43,200.00	\$4,800.00	83,700.00	\$9,300.00
66,000.00	\$11,000.00	24,600.00	\$4,100.00	55,800.00	\$9,300.00
11,000.00	\$11,000.00	4,100.00	\$4,100.00	10,500.00	\$10,500.00
23,680.00	\$20.00	16,576.00	\$14.00	20,720.00	\$17.50
9,135.00	\$58.00	10,237.50	\$65.00	12,757.50	\$81.00
252,720.00	\$12.00	147,420.00	\$7.00	168,480.00	\$8.00
47,300.00	\$430.00	27,500.00	\$250.00	33,000.00	\$300.00
32,680.00	\$430.00	19,000.00	\$250.00	22,800.00	\$300.00
10,000.00	\$10,000.00	100.00	\$100.00	500.00	\$500.00
9,581,303.66	1 1/2 2 3 3	8,876,400.37	7.00.00	8,208,631.91	